Q. 1
Typically a variable define in a function/procedure/module has

 
A)
Scope for the whole file

 
B)
Global scope

 
C)
Local scope

 
D)
Retains its value between calls.

Q. 2
The max permissible characters in a variable name is

 
A)
16

 
B)
32

 
C)
64

 
D)
None of these

Q. 3
The type of a function/procedure/module is determined by

 
A)
Its arguments

 
B)
The value returned

 
C)
Its name

 
D)
None of the above

Q. 4
Out of following choose the correct one

 
A)
Public items are not accessible from own class

 
B)
Protected items are accessible from objects out side the class

 
C)
Private items are accessible from derived class

 
D)
Protected items are accessible from derived class

Q. 5
Every call to a function is checked by the compiler against the

 
A)
Parameter list

 
B)
Variable description

 
C)
Function prototype

 
D)
Program prototype

Q. 6
The short cut keys used to run the C++ program is

 
A)
CTRL + F8

 
B)
CTRL + F9

 
C)
CTRL + F5

 
D)
ALT + F5

Q. 7
What values can a relational expression take?

 
A)
True and false

 
B)
Any numerical value

 
C)
Only ASCII value

 
D)
None of these

Q. 8
The function not use to concatenation of two strings is

 
A)
strcpy

 
B)
strcat

 
C)
.+

 
D)
get()

Q. 9
The class used to over ride the security provided by the class

 
A)
ios()

 
B)
friend()

 
C)
istream()

 
D)
ostream()

Q. 10
class used to derive other class are

 
A)
Base class

 
B)
Derived class

 
C)
Abstract class

 
D)
Inherit class
Q. 1
The read () function works in

 
A)
Binary mode

 
B)
ASCII mode

 
C)
Either A) or B)

 
D)
Neither A) nor B)

Q. 2
A syntax error is signaled by the

 
A)
Compiler

 
B)
Linker

 
C)
Eidtor

 
D)
Run time system.

Q. 3
The first graphic library function to be executed is

 
A)
detectgraph()

 
B)
initgraph()

 
C)
window ()

 
D)
None of these

Q. 4
The base class for stream class is

 
A)
ios

 
B)
istream

 
C)
ostream

 
D)
None of these

Q. 5
In multiple inheritance, when both base class have function with same name

 
A)
You can not call the function

 
B)
You have to call the function indicating the derived class in the statement

 
C)
Indicate the base class name in the calling statement

 
D)
You can not derive such functions.

Q. 6
_____occupies 4 bytes storage space

 
A)
Int

 
B)
Long int

 
C)
Unsigned Int

 
D)
Float

Q. 7
The short cut keys used to run the C++ program is

 
A)
CTRL + F8

 
B)
CTRL + F9

 
C)
CTRL + F5

 
D)
ALT + F5

Q. 8
How many bytes does “D” use?

 
A)
0

 
B)
1

 
C)
2

 
D)
3

Q. 9
A method declared as private can be accessed by

 
A)
Its class methods only

 
B)
Superclasses only

 
C)
Subclass methods only

 
D)
All classes

Q. 10
A run-time error is ALWAYS caused by

 
A)
Division by zero

 
B)
Incorrect logic

 
C)
Error in syntax

 
D)
Incorrect linkage

